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Reasoning Ability

In a certain code, ‘37’ means ‘which class’ and ‘583’ means ‘caste class’. What is the
code for ‘caste’ ?

d) Either 5 0or 8
Option — d

In a certain language , ‘oka peru’ mens ‘fine cloth’, ‘meta lisa’ means ‘clear
water’ and ‘dona lisa peru’ means ‘fine clear weather’, then which word in
that language means ‘weather’ ?

a) peru

b) oka

c) meta

d) dona
Option — d

In a certain code, 15789 is written as XTZAL and 2346 is written as NPSU.
How is 23549 written in that code ?

a) NPTUL
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b) PNTSL
c) NPTSL
d) NBTSL

Option — ¢

In a certain code language ‘POND’ is written as ‘RSTL’. How will ‘HEAR’ be
written in that code ?

a) GHIZ
b) GHIJ
c) JCLZ
d) JIGZ
Option — d

If DO is coded as 35 then DONE will be coded as

Option — a
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In a certain code language ‘DOG’ is written as ‘WTL’. How will ‘CAT’ be
written in that code ?

a) XZ2G

b) XYG

c) XGZ

d) XAZ
Option — ¢
TEACHERS
a) REACH
b) CHAIR

c) CHEER
d) SEARCH
Option —b
TRANQUILITY
a) QUILT

b) TRINITY

c) TRAIN
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d) TRIANGLE
Option — d
PROGNOSTICATION
a) RONTGEN
b) START
c) SPITOON
d) ROGATION
Option — a

Directions: In each of the following questions, four words have been given out of
which three are alike in a certain way and one is different. Choose out the odd
one.

a) Sun

b) Moon

c) Star

d) Universe
Option — d
a) Engineer

b) Mechanic
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c) Architect
d) Mason
Option —b
a) Dollar
b) Yen
c) Ounce
d) Franc
Option — ¢

Aruna ranks twelfth in a class of forty six. What will be her rank from the last ?

Option — ¢

In a row of trees one tree is fifty from either end of the row. How many trees
are there in the row?

a)8
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Option —b

Ahmed is taller than Salim. Salim is not as tall as Ahmed but taller than
Akbar. Sohan too is no as tall Salim but taller than Akbar. Who is the
tallest?

a) Salim
b) Akbar
c) Ahmed
d) Sohan
Option — ¢

Ravi is 7 ranks ahead of sumit in a class of 39. If sumit’s rank is
seventeenth from the last, what is Ravi’s rank from the start?

a) 14th
b) 15th
c) 16th

d) 17th
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Option — ¢
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